光學作業 應物三甲 0932363 沈帛寬

Problem 9-11

A pinhole of diameter 0.5 mm is used in front of a sodium lamp (5890Å) as a source in a Young interference experiment. The distance from pinhole to slits is 1 m. What is the maximum slit space insuring interference fringes that are just visible?

Answer
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The distance from pinhole to slits


[image: image5.wmf]=

l

wavelength


[image: image6.wmf]=

s

diameter of the pinhole


[image: image7.wmf]m

r

 

1

=



[image: image8.wmf]=

l

5890Å
[image: image9.wmf]m

 

10

89

.

5

7

-

´

=



[image: image10.wmf]-4

10

5

mm

 

0.5

´

=

=

s



[image: image11.wmf]cm

l

s

 

44

.

1

10

5

10

89

.

5

1

22

.

1

4

7

=

´

´

´

´

<

\

-

-


_1235236555.unknown

_1235589213.unknown

_1235589293.unknown

_1235589292.unknown

_1235236934.unknown

_1235236979.unknown

_1235236991.unknown

_1235236912.unknown

_1235236424.unknown

_1235236497.unknown

_1235236243.unknown

